+ Which among the following districts of
"ilmnl has the least number of Gram
Panchayats ?
(A) Panchkula
(C) Rohtak

(B) Gurugram
sp) Faridabad

The number of cervical vertebrae present
in Horse is

M) 7 (B) 8
(C) 14 (D) 18
. Blood collection site in cattle is
(A) Carotid artery  (B) Saphenous vein
(Q Jugular vein (D) Mammary vein

. "Curled-toe paralysis" in birds is due to the
deficiency of

-(A) Riboflaving,  48) Thiamine s,
(C) Niacin 3, (D) Vitamin D
Complete the series.
1,1.2,3/5.813, 7
) 20 (B) 21
(C) 22 (D) 23

is the only perennial river
oy oy~
(A) Ghaggar (B) Hakra
(G) Yamuna (D) Markanda

In a p-type semiconductor, which one of the
following statements is true ?

(A) Electrons are majority carriers and
trivalent atoms are the dopants

(B) Electrons are minority carriers and -lp’

pentavalent atoms are the dopants

(C) Holes are minority carriers and
pentavalent atoms are dopants

(D) Holes are majority carriers and
_~" ftrivalent atoms are the dopants

il ‘/ 2

Fresferfia # @ whearom 3 form Frdt 3 s

' 9 Ty g § 7

(A) G=Fen
(C) Meaw®

. W3 1 ot FEreh ) G R

(A) 7 (B) 8
(C) 14 (D) 18

. 9T 8 oA 8

(B) 3mwa:gmaETIR

(A) Hran awt
(D) == fimn

(C) fan i
“q8 7@ w1 wa qfdEl |

' fFfFFRUETNR

(B) 91aHR

(A) TFATTATEA
(D) fazftm &

(C) Fraft=

. AT fEen wi gl Al |
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3. Whicha
: mong the followi '
river Ghaggar in Haryan:q;is a tributary of

(A) Chautang (B) Saraswati
(C) Aruna (D) Nagafgarh
3. Act of parturition in sheep is called as
(A) Kittening (B) Calving
(C) Lambing (D) Kidding
). There
as of 2:1?1. il
AA) 3 ) 1
©) 9 (D) 19

{. Castration means
A») Removal of testicles glands that
produce male germ cells

(B) Removal of extra teats of animals
(C) Removal of hom of animals

(D) None of these

ideal dry period in crossbreed cattle is
(A) 60 days {B) 45 days
(C) 30 days (D) 90 days
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18.

A water molecule has an electric dipole
moment 6.4 x 10-* cm when it is in vapour
state. The distance in metre between the

centre of positive and negative charge of
the molecule is

(A) 4 x 10" (B) 4 x 10-"
}c) 4 x 10" (D) 4 x 10"
16. Which among the following city of Haryana
is called as golden city ?
(A) Ambala AB) Sonipat
17.  In 1833, British formed a new North Westemn
provincewith ________ asits Headquarters
7ito which Haryana belonged to
(Y Meerut (B) Amritsar
(C) Lahore (D) Agra
18. ‘Erythraean’ was the Greek name for the
(A) Mediteranean Sea
_4B) Red Sea
(C) Black Sea
(D) Indian Ocean
19. Tallest breed of sheep
_A&X) Mandya (B) Deccani
(C) Nellore (D) Bellary
20.

India had invited who among the following

as Chief Guest for Republic Day Parade
20217

(A) Boris Johnson, Prime Minister of UK

(B) Kamala Harris, Vice President of USA

) Justin Trudeau, Prime Minister of Canada

(D) None of the above
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‘!‘F - a1 w1 g Rl sl
Srara i 6.4 x 10 cm § | 30 39 & waw
v e st & ¥ & v oz 26
wn et 7
(A) 4 x 10" (B) 4 x 10"
(C) 4% 10 (D) 4 x 10
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21.

Identify the name of the Nobel Laureate.
He was bom in Raipur, Punjab (now in
Pakistan).

His invention in the field of Medicine-
interpreting the genetic code and analysing
its function in protein synthesis — fetched
him the Nobel Prize for Medicine in 1968.
‘(5) Hargobind Khorana

(B) Subramanian Chandrashekhar

(C) Chandrasekhara Venkata Raman

(D) None of the above

Adult female pig is called as

(A) Cow (B) Sow

(C) Boar (D) Gilt

Act of mating in sheep is called as

(A) Ramming 4B8) Eweing

(C) Tupping (D) Coupling

In cat Feline Infectious Peritonitis (FIP) is
caused by

(A) Lyssa virus (B) Picomovirus
59) Coronavirus (D) Orbivirus

Life span of RBCs is

(A) 200 days @) 120 days

(C) 85 days (D) 150 days
Manganese Is found in which district of
Haryana 7

(A) Hisar (8) Mahendragarh
(C) Kamal (D) Gurugram

Os penis is found in

) Dog (B) Buffaloes

(C) Cattle (D) Sheep
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(A) 200 f&= B) 120 f&a
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28, udnawh T A I
28. Pashmina is produced from LGk an
breed of goat. ST B)
(A) Jamnapuri t6) Chegu (A) ((D) ST
(C) Neliore (D) Changthangi (C) e
Feerd B |
29. Act of mating in cattle is known as 29. el A wm R B ___
4A) Coupling (A) Wk
r-,*” W (B]Hﬁﬂ
(C) Tupping (C) Zftm
(D) None of the above (D) 3% # @ = 7l
30." Refresh rate is measured in orin| 30, fFn=m® 1 ATYFA T HF
cycle per second. Aa A R | :
(A) Kilo Bytes (B) Mili Seconds (A) fFeh amgem (8) forech a5z
(C) Nano Seconds (D) Hertz (C) 4 ¥z (D) ¥
n. does not undergo Friedel- | 31, urghfiaw Feige & wra F0F =3 & Fa0)
'I .. cll: -dl- £ -~
(A) Aniline _ABJ Chiorobenzene (A) e (B) T
(C) Benzene (D) Toluene (C) &l (D) Tegia
32.  Faulty milking method in dairy animalsis | 32. JumR Tyt 3 Freqel gu T ) fafiat 3
'+ 4A) Knuckling (B) Stripping (A) T (B) 3 1ga F=
(C) Full hand milking (D) Machine vein (C) JU &4 g (D) wef= fim
(67.542)" - (32.458)° (67.542)° - (32.458)
b B S sase—d037a T M T
(A) 1 _A8) 10 (A) 1 (B) 10
(C) 100 (D) None of these (C) 100 (D) ¥ & #rf 78
34. Which of the following lakes is a wildiife | 34 Frerffira 3 4 whamn § a-
sanctuary in Haryana ? nmmt? WA= o @
(R) Badkhal (B) Damdama (A) BT (B) Twam
(C) Bhindawas (D) Karnal (C) Frgram (D) wE=
35. Allthe computer's resources are managed |  35. TR F av) wEam e @
from the unit, mmg|
JA) . Control (8) Input (A) W& (B) YR
(C) Arithmetic Logic (D) Output

(C) adtfew affwr () smey




36.  Which of the following breed is native to | 36 Frsaferfira 3 @
Kamataka ? g
(A) Tharparkar  (B) Toda (A) UTTITCH
({C) Kankrej (D) Hallikar (C) FHH
37. "Goose stepping” in pigs is related to [ 37.
deficiency of wafiua B 1
(A) Pyridoxine 4B) Biotin (A) arytreif ﬂ:'
(C) Pantothenic acid (D) Manganese (©) T
¥«
38. In addition to the cache memory built into the 8. miﬁﬁﬁﬂﬂ
CPU, cache is also added to the motherboard. waars
This Motherboard resident cache is noW W 3 1) &4
called () Saa-1 (e b
(A) Level-1 (L1) Cache (@) &2 (12)
(B) Level-2 (L2) Cache (c) &@-3 (za13) ¥4
(C) Level-3 (L3) Cache _o (T0)
(D) Level-0 (LO) Cache (0)
39 S0GW T —
39. Youngoneofsheapiscaladas —
(A) Calf (B) Kid o
Foal (©) 7
(C) Lamb (D) Foa 2 .
ot TerEa T
40. Ranikhet disease in birds is caused by | 40. hidul Y
(A) Influenza virus (A) R
(B) Paramyxovirus (@) Y i“E 3
C) Picomovirus ()
©) (D) Frar faery
(D) Coronavirus
mbers, whose average is 60, i
. ﬁ":mﬁ:roﬁu&mdpnmdmu
three. The first number is
(A) 15 (B) 45 (A) 15
: (D) 6025 3, ‘3 (C) 48
42 in Haryana Momi and Tipra ranges are V42,
separated by the valley of # wid g 79w € |
(A) Yamuna river  (B) Ghaggar river (A) TET FE
(C) Saraswati river (D) Markanda river (C) w74
Y 2
ﬁ@ ‘ " v .;'i‘(
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43.

47.

mc.moryulwmww
which is annually cultivated for each crop in
umbnmdnevemlowedtouefalow
(A) Chachar (B) Parauti

(C) Banjar (D) Polaj
RZBvaocinenﬂmuudinwtﬂd\dﬂ\O
following disease ?

(A) Infectious bronchitis

_B) Ranikhet disease

(C) Salmoneliosis
(D) Avian Influenza

In Haryana Vedic Drishadwatl river is also
known as
(AY Saraswatl
(C) Ghaggar
Which one of the following animal diseases
has been eradicated from India 7

(A) Avian influenza (B) Rinderpest

(C) Fowl pox (D) FMD

(B) Markanda
(D) Sahibi

Period from conception 10 parturition is
called

(A) Gestation period

(B) Dry period

(C) Calving period

(D) Lactation period

Indian Veterinary Research Institute is

located at
() Izatnagar, Uttar Pradesh

(B) Hisar, Haryana
(C) Avikanagar. Rajasthan
(D) Kamal, Haryana

Central Institute of Research on Goal is
located at
(A) Hisar

(C) Kamal

(8) Avikanagar
(D) Makdhoom
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52.

The Right to Information (RT1) Act has been
enacted and has came into force from

() 15 June, 2005
(B) 20 April, 2008
(C) 19 March, 2005
(D) None of the above

Dehoming means

(A) Removal of eye of animals

(B) Removal of extra teats of animals
(@) Removal of horn of animals

(D) None of these

Revolt of 1857 against the British Govt. was

(A) Hisar (B) bk
(C) Ambala (D) Mahendragarh

Whm&ﬂnhmusﬁﬂgemmdm
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§7. AllindiaRadioat s the oldest radio
station of Haryana.

(A) Kurukshetra
(C) Ambala

(B) Hisar
D) Rohtak

- What does an indirect tax GST stands for 7
iA) Goods and Service Tax

(B) General Service Tax

(C) Goods and Sales Tax

(D) None of the above

The enlargement of the esophagus is
called as

(A) Gizzard 48) Crop

(C) Cloaca (D) Proventriculus
Who among the following Chinese pilgrim
visited Haryana in 7» Century ?

(A) Hsi-y0 Chi {B) Hiuen Tsang
(C) Fa-hien (D) Markpolo

mmmmommmvm?
(A) Baba Farid

(B) Mohd. Bakhtiar Kaki-
§€) Boo Ali Shah
(D) Sharfuddin

62. Clm.lfnnunberwhbhitﬂwhrb&n
" nun;»genlgmoﬁohmnm.
v 8:58::27:?‘t
(A) 8
(C) 64

61.

(8) 28
(D) 85

—— . 8 famous lake of Haryana was
mentioned in the 11= Century memoirs of
Al-Beruni called ‘Kitab-ul-Hing',

(A) Badkhal

(B) Damdama

(@) Brahma Sarovar

(D) Kama
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67.

Which among the
voice box of bird 7 ''°ING is called a
:8; ::"rym‘ (B) Pha
rop
AD) Svnr?r "
In Ha
ryana —_— s Celebrated
welcome rain season "
A) G
((9: T‘W (B) Gugga Naumi
eej (D) Baisakhi
Scientific name of goat is
AA) Capra hircus (B) Bos indicus
(C) Sus scrofa (D) Ovis aries

Western Haryana plains differ from the
Eastern Haryana plain because of the
presence of a number of sand dunes locally
known as of varying heights and
magnitude in Western part of the State.

(A) Ghar AB) Bagar
(C) Ghaggar (D) All of the above

This hill has acquired Haryana a wide fame
ssitisbeliovedmatChmnRiﬂipradiud

penance here for many years.
(A) Morni hill

48) Dhosi hill

(C) Gokalgarh

(D) None of the above

Ovulation is the
(A) Process of formation of bone

wpmdﬂbﬂﬂmmm
Graafian follicle

(C) Process of release of spermatozoa
from sertoli cell
(D) None of these
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Freferfiga 3 &) fardy wftt o i wea 8 7
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70.

7.

74,

76.

NTr/ze

N"",’A_- : . n. n K ' fwrem— =
N ‘,{ﬁ f\'ﬁ?‘.f\‘\ﬁ " "I"'T:., 3 1:.‘ r 1;2;: (}/’) 7 I
. ] "\ A /‘4’ P
suuuonp«lodln‘éé;’"n A \A70. v i Avburon srafir @
(pF 155 days (B) 114 days (A) 155 23 (8) 11‘:
(C) 279 days (D) 65 days () 279 A (D) 65
60% of 264 is the same as 71. 264 % 60% Frmh TaH B 7
(A) 10% of 44 _AB) 15% of 1056 (A) 44 F1 10% (8) 1056 15%
(C) 30%o0f132 (D) None of these (C) 132 %1 30% (D) T A F1E FH
Myiasis is 72. W@ R
(A) The Infestation of animal tissue by ticks (A) T3t ¥ T & Faradt 1 T
(B) The Infestation of animal tissue by mites (B) T3 & Faw § 37 W E@FA
(C) The Infestation of animal tissues by (C) T3t & sl A wfwadl & el
(D) None of these (D)Fﬁﬂﬁfqﬂ
Which of the following is a crossbréed 73. PRI FA- & T T £ 7
sy FO FTE (8) == f==
(A) Karan Fries  (B) Karan Swiss ALNS '
(C) Sunandini (DY’ All of the above (C) FiReA (D) 3w =t
Mﬂnbumbywwof 74. TR Tt s TR v iE e
_iA) Haryana Samvad (A} I
(B) Harigandha (B) ¥foran
(C) Rajanigandha (C) e
(D) Ubharta Haryana (D) Iwtan wf@mn
In the following diagram 2\ represents | 75. R Rumtafm i A\ ‘wxa’ #1zofa?,
‘Healthy’, [ represents 'Old' and O O ‘g’ B 2w & sl O ‘gt @z
represents ‘Men’. Which area in the 2 ek mm-mmgﬁﬁﬁt
diagram represents Men who are Healthy e
but not old ? N wawn § afem gapl i d 7
7 7
s a -]
] L]
(A) 1 (8) 2
(A) 1 @) 2
)3 )7 €3 ©) 7

A42-
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g
l‘c."'

e .
important dialect sp :0"0;:'::9 is not an
people of

Haryana ?
(A) Bagri
(B
© Panchhasi (o) GacchBangaimbol‘
1

77. InHaryana Ladwa revolt of 1845 was lead by
(A) Jodh Singh _B) Ajit Singh
(C) Jobit Kha (D) Pratap Singh

is the most Ancient one ?
(A) Ghoomar _4B) Saang
(C) Khoria (D) Dhamal

9. During the formation of Haryana, number
of districts in the State were

_AAT 7 (B) 17

(C) 19 (D) 21

0. Thebuﬂalobroedevoivedmnofawm
Sortied and Murrah

(A) Jaffarbadi (B) Toda

(C) Nili Ravi (D) Mehsana
4. Castrated male pig is known as

(A) Neutor (B) Barrow

(C) Capan ) Wedder

2. Conversion of protein into amino acid is
catalysed by
(A) Urease
(C) Zymase _(D) Pepsin

(B) Maltase
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1512019 (11)
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(c) Tfem (D) WA
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C) 19 (D) 21
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(C) &9 (D) ¥
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English Language bz
Dlrlcﬂon(Q.No.BaandM):Raadeamzenlm 87. gt+ﬁ=ﬂh_mmmh
wﬁwmmmﬂahawmmu,mm.
if any, Will be in one part of the sentence. Mark the (A) T
number of that part With error gs YOur answer (8) #d
&) 39
83. (A) They never thought (D) W | =g 7
JB) that Raja was oldest than other
(C) bmtheninmofarnlly. 88, ﬂtmﬁaﬂiaﬁm*Mm
(D) No error 4 WY WEREEAE
84. (A> Ganesh, who has been We
(B) driving all day, (8) ¥
(C) was extremely tired C)y
(D) and wanted to stop. () W 3 Frf 1
85. Add suitable question tag to the 89. "3 el 21 T s’ e e e
fmmthaaltarnatimgivonbelowm. & afmta s @ 7
A few people knew the answer, = 7 (A) qgj
(A) don't they (8) %4
(B) did they (©) v
/(;)rdldn‘l they (D) ¥t & 18 3¢
(D) do they
86 Choose the correctly spelt word from the LI LU B T ———
alternatives given below it.  fm W i stwta s 8
(A) Adviceable () FtaTa
AP Advisable (B) ForaTa
(C) Advicable (C) WraaTe=:
(D) Adviseable (D) ¥ | #r§ =
—




